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#1: 2 BB ZFR(59.65) #2: 3 Bf & (54.93) #3: 9 LLI7EHE(50.46)
1 INS: BB £FEBHO) 6 5 NS: FR#R TR (BAC) -1&1 VP:| 14.28 : 5.72 Total VP: 30.53 Rank:
EW: 2308 SIBFEEAC) 16 EW: EEBIE k= (BHO) -6 IMP:| 41 28 10
I .
#1 1972 3NE-1 50 Mean: 3NW-1 50 20 1 ([[# 2 s J3 3NW3 -400 Mean: 2NW3 150 6.0 1
v 763 2NE3 -150 -30 3NE-1 50 20 3 v K732 3NW4 -430 -380 A 0.0 4
o AT6 Dif: 200 NS:2 A 00 4 ¢ J62 Dif: 30 NS:-1  3NW3 -400 1.0 4
& A95 IMP: 5 EW:3 2NE3 150 3.0 1 » Q764 IMP: 1 EW:2 3NW4 430 20 2
» Q53 s KJ8 2NE2 120 3.0 1 ||eQ & AK754 3NE4 430 20 1
v 52 v AKQ9 1NE2 120 3.0 2 |[|e QJT8 I v 96
¢ QJ82 + K954 ¢ AK3 ¢ Q975
& K743 & 62 & KJ852 & T9
% ¢ VAN ,AGS o VAN 4 T9862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ ¢ 73 S ~~~~~ ¢ T84
E ~3~~2 &QJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 » K853 3NE-2 200 Mean: 3NE-2 200 100 1 ||# 4 a74 4HN-1 100 Mean: 3SE-3 300 9.0 1
v AJT65 3NW4 -630 -240  3NE-1 100 80 2 v KQT98432 3SXE-1200 -110 3SXE-1 200 70 1
¢ 542 Dif: 830 NS:10 3CW-1 100 8.0 1 ¢ J64 Dif: -300 NS:0 A 00 4
&6 IMP: 13 EW:9 A 00 4 » IMP: -7 EW:-7 4HN-1 100 0.0 4
& AQJI6 aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v K8 v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ AK ¢ JT763 3NW4 630 9.0 1 ¢ K53 * A2
& A542 & QJ3 & 98543 & KJ76
POV AN 4742 ¢V AN 4 AKS
N ~~~~~ v 94 N ~13~1 ¢6
S ~~~~~ + Q98 S ~13~1 ¢QT987
E 34~~3 aKT97 E 2~~1~ &AQT2
34~~3 W 2~~1~
#5 » K862 4HE-2 100 Mean: 4HE-2 100 50 1 |[|# 6 » K8 6SW6 -1430 Mean: 3HE4 170 11.0 1
v 732 4SXN-2 -500 -110  3NE-2 100 50 1 v 953 4HW4 -620 -710  2HE4 170 110 1
» AQ842 Dif: 600 NS:5 3HE-2 100 50 2 » KQJ763 Dif: -810 NS:-12 4HW4 620 3.0 2
a5 IMP: 12 EW:9 A 00 4 a K2 IMP: -13 EW:-3 4HE4 620 3.0 1
a Q43 aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v AK5 v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
*6 ¢ KJT 4SXN-2 500 9.0 1 ||e 854 * A9 6SW6 1430 120 2
& KQT942 & J86 4DXN-2 -500 9.0 1 ||& T8764 a A
% ¢V AON 4,AIB o VAN 4743
N ~3~2~ «T9 N ~~~~~ v Q76
S ~3~2~ 49753 S ~~~~~ * T2
E 3~1~1 aA73 E ~~462 aQJ9s3
3~1~1 W ~~462
#7 a9 4HS5 650 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 -110 Mean: 2SE-1 50 40 1
v 19876 3HS5200 370 4HS5 650 70 1 v J643 2SE2-110 90 A 0.0 4
¢ QT85 Dif: 450 NS:7 3NS3 600 6.0 1 ¢ Q3 Dif: 0 NS:-1 2SE2 110 1.0 5
& AT9 IMP: 10 EW:5 A 00 4 & QT54 IMP: 0 EW:1 2SE3 140 20 2
» Q876 # AK42 3HS6 230 4.0 1 4 Q864 & AKT7
v 543 + v K 2HS6 230 40 1 ||vQT95 v 82
¢ 9642 ¢ K3 3HS5 200 5.0 1 * K2 + AT94
& J4 S & Q8763 2HN4 170 50 1 ||& 963 & K72
¢V ABN ,JT53 1NN2 120 60 1 *eVAN 403
N ~45~4 ¢AQ2 N 1~~~~ o AK7
S ~45~4 ¢AJ7 S 1~~~ ~ ¢ J8765
E ~~~~~ & K52 E ~~~32 aA8
~~~~~ W ~~~21
#9 a A76 2DW3 -110 Mean: 2SN2 110 50 1 |[|# 10 a75 3SW4 -170 Mean: 3NE-2 200 60 1
v J532 2DW2-90 -70  3CS-1 -50 1.0 1 v Q52 4SW-1100 -50  5DE-1 100 40 1
«» Q62 Dif: -20 NS:-1  2S8S-1 -50 1.0 1 ¢ 754 Dif: -270 NS:-3 4SW-1 100 40 2
& T97 IMP: -1 EW:1 A 00 4 & KJT43 IMP: -7 EW:-4 A 00 4
s KJ3 s T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v AQ7 v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ AJT54 ¢ 983 1NW3 150 2.0 1 ||e AT86 * KJ93 3HXS-2 -500 -10.0 1
& J4 & Q32 1HN-3 150 20 1 ||s AQ7 & 9652
o VAN 4,Q985 P eVABN 4, A3
N 1~~~~ T4 N ~~~~~ v K98743
S 1~~1~ oK7 S ~~~~~ ¢ Q2
E ~23~1 &AK865 E 35~44 a8
~22~1 W 35~44
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#1: 2 BB ZFR(59.65) #2: 3 Bf & (54.93) #3: 9 LLI7EHE(50.46)
2 INS: BES 2 ¥ HBHO) 13 4 NS: R{_5 #II#¥(BiC) -11 VP:| 16.39 : 3.61 Total VP: 59.65 Rank:
EW: Bi=% &2 (FC) 11 EW: {R 41 B=RAB(FI0) -1 IMP:| 38 16 1
I .
#1 1972 3NE-150 Mean: 3NW-1 50 20 1 ([[# 2 s J3 2NW3 -150 Mean: 2NW3 150 6.0 1
v 763 3NW-150 -30  3NE-1 50 20 3 v K732 3NW3 -400 -380 A 00 4
o AT6 Dif: 0 NS:2 A 00 4 ¢ J62 Dif: 250 NS:6 3NW3 -400 1.0 4
& A95 IMP: 0 EW:-2 2NE3 150 3.0 1 & Q764 IMP: 6 EW:1 3NW4 430 20 2
» Q53 s KJ8 2NE2 120 3.0 1 ||eQ & AK754 3NE4 430 20 1
v 52 v AKQ9 1NE2 120 3.0 2 |[|e QJT8 I v 96
¢ QJ82 + K954 ¢ AK3 ¢ Q975
& K743 & 62 & KJ852 & T9
% ¢ VAN ,AGS o VAN 4 T9862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ * 73 S ~~~~~ * T84
E ~3~~2 &QJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 # K853 3NE-1 100 Mean: 3NE-2 200 100 1 ||# 4 a74 4HXN-1 -200 Mean: 3SE-3 300 9.0 1
v AJT65 3NW3 -600 -240 3NE-1 100 80 2 v KQT98432 4HN-1 100 -110  3SXE-1 200 70 1
¢ 542 Dif: 700 NS:8 3CW-1 100 8.0 1 ¢ J64 Dif: -100 Ns:-3 A 00 4
&6 IMP: 12 EW:8 A 00 4 » IMP: -3 EW:0 4HN-1 -100 0.0 4
& AQJI6 aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v K8 v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ AK ¢ JT763 3NW4 630 9.0 1 ¢ K53 * A2
& A542 & QJ3 & 98543 & KJ76
B¢ VAN 4742 ¢V AN 4 AKS
N ~~~~~ v 94 N ~13~1 96
S ~~~~~ ¢ Q98 S ~13~1 ¢ QT987
E 34 ~~3 &KT987 E 2~~1~ a&AQT2
34~~3 W 2~~1~
#5 » K862 3NE-2100 Mean: 4HE-2 100 50 1 |[|# 6 » K8 6SW6 -1430 Mean: 3HE4 170 11.0 1
v 732 4SXN-1-200 -110  3NE-2 100 50 1 v 953 4HE4 -620 -710 2HE4 170 110 1
» AQ842 Dif: 300 NS:5 3HE-2 100 50 2 » KQJ763 Dif: -810 NS:-12 4HW4 620 3.0 2
a5 IMP: 7 EW:3 A 00 4 a K2 IMP: -13 EW:-3 4HE4 620 3.0 1
a Q43 aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v AK5 v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
*6 ¢ KJT 4SXN-2 500 9.0 1 ||e 854 * A9 6SW6 1430 120 2
& KQT942 & J86 4DXN-2 -500 9.0 1 ||& T8764 a A
e VAN 4,AID o VAN 4743
N ~3~2~ «T9 N ~~~~~ v Q76
S ~3~2~ 49753 S ~~~~~ * T2
E 3~1~1 aA73 E ~~462 aQJ9s3
3~1~1 W ~~462
#7 a9 2SXW-3 800 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 -110 Mean: 2SE-1 50 40 1
v 19876 3NS3 600 370 4HS5 650 70 1 v J643 2SE2-110 90 A 0.0 4
¢ QT85 Dif: 200 NS:10 3NS3 600 6.0 1 ¢ Q3 Dif: 0 NS:-1 2SE2 110 1.0 5
& AT9 IMP: 5 EW:6 A 00 4 & QT54 IMP: 0 EW:1 2SE3 140 20 2
» Q876 # AK42 3HS6 230 4.0 1 4 Q864 & AKT7
v 543 + v K 2HS6 230 40 1 ||vQT95 v 82
¢ 9642 ¢ K3 3HS5 200 5.0 1 * K2 + AT94
& J4 S & Q8763 2HN4 170 50 1 ||& 963 & K72
¢V ABN ,JT53 1NN2 120 60 1 *eVAN 403
N ~45~4 ¢AQ2 N 1~~~~ o AK7
S ~45~4 ¢AJ7 S 1~~~ ~ ¢ J8765
E ~~~~~ & K52 E ~~~32 aA8
~~~~~ W ~~~21
#9 a A76 3CS-1-50 Mean: 2SN2 110 50 1 |[|# 10 a75 3SW4 -170 Mean: 3NE-2 200 60 1
v J532 2SS-1-50 -70  3CS-1 -50 1.0 1 v Q52 3HXS-2-500 -50 5DE-1 100 40 1
+ Q62 Dif: 0 NS:1 2SS+ -50 10 1 ¢ 754 Dif: 330 NS:-3 4SW-1 100 40 2
& T97 IMP: 0 EW:-1 A 00 4 & KJT43 IMP: 8 EW:10 A 00 4
s KJ3 s T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v AQ7 v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ AJT54 ¢ 983 1NW3 150 2.0 1 ||e AT86 * KJ93 3HXS-2 -500 -10.0 1
& J4 & Q32 1HN-3 150 20 1 ||s AQ7 & 9652
B¢ VAN 4Q985 P eVABN 4, A3
N 1~~~~ T4 N ~~~~~ v K98743
S 1~~1~ oK7 S ~~~~~ ¢ Q2
E ~23~1 &AK865 E 35~44 a8
~22~1 W 35~44




Ll > >3z s\ 4 N
4 10EEE2ABERF 2R E == R4 4
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#1: 2 BB ZFR(59.65) #2: 3 Bf & (54.93) #3: 9 LLI7EHE(50.46)
3 NS: 3L FEBEI0) 0 6 NS: ##54H B4 (BAC) -11 VP:| 14.54 : 5.46 Total VP: 54.93 Rank:
EW: ZEREIR B¥KEHAC) 11 EW: fA5RE) #iE3R(FH0) 0 IMP:| 20 : 6 2
I .
#1 1972 3NE-150 Mean: 3NW-1 50 20 1 ([[# 2 s J3 3NW3 -400 Mean: 2NW3 150 6.0 1
v 763 1NE2 -120 -30 3NE-1 50 20 3 v K732 3NW4 -430 -380 A 0.0 4
o AT6 Dif: 170 NS:2 A 00 4 ¢ J62 Dif: 30 NS:-1  3NW3 -400 1.0 4
& A95 IMP: 5 EW:3 2NE3 150 3.0 1 & Q764 IMP: 1 EW:2 3NW4 430 20 2
» Q53 s KJ8 2NE2 120 3.0 1 ||eQ & AK754 3NE4 430 20 1
v 52 v AKQ9 1NE2 120 3.0 2 |[|e QJT8 I v 96
¢ QJ82 + K954 ¢ AK3 ¢ Q975
& K743 & 62 & KJ852 & T9
% ¢ VAN ,AGS o VAN 4 T9862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ * 73 S ~~~~~ * T84
E ~3~~2 &QJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 » K853 3NE3 -600 Mean: 3NE-2 200 100 1 ||# 4 'y 4HN-1 -100 Mean: 3SE-3 300 9.0 1
v AJT65 3NE3 -600 -240  3NE-1 100 80 2 v KQT98432 4HN-1 100 -110  3SXE-1 200 70 1
¢ 542 Dif: 0 NS:-8 3CW-1 100 8.0 1 ¢ J64 Dif: 0 NS:0 A 00 4
&6 IMP: 0 EW:8 A 00 4 » IMP: 0 EW:0 4HN-1 100 0.0 4
& AQJI6 aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v K8 v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ AK ¢ JT763 3NW4 630 9.0 1 ¢ K53 * A2
& A542 & QJ3 & 98543 & KJ76
B¢ VAN 4742 ¢V AN 4 AKS
N ~~~~~ v 94 N ~13~1 96
S ~~~~~ ¢ Q98 S ~13~1 ¢ QT987
E 34 ~~3 &KT987 E 2~~1~ a&AQT2
34~~3 W 2~~1~
#5 » K862 3HE-2 100 Mean: 4HE-2 100 50 1 |[|# 6 » K8 3HE4 -170 Mean: 3HE4 170 11.0 1
v 732 3HE-2100 -110  3NE-2 100 50 1 v 953 4HW4 -620 -710  2HE4 170 11.0 1
» AQ842 Dif: 0 NS:5 3HE-2 100 50 2 » KQJ763 Dif: 450 NS:11 4HW4 620 3.0 2
a5 IMP: 0 EW:5 A 00 4 a K2 IMP: 10 EW:-3 4HE4 620 3.0 1
a Q43 aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v AK5 v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
*6 ¢ KJT 4SXN-2 500 9.0 1 ||e 854 * A9 6SW6 1430 120 2
& KQT942 & J86 4DXN-2 -500 9.0 1 ||& T8764 a A
% ¢V AON 4,AIB o VAN 4743
N ~3~2~ «T9 N ~~~~~ v Q76
S ~3~2~ 49753 S ~~~~~ * T2
E 3~1~1 aA73 E ~~462 aQJ9s3
3~1~1 W ~~462
#7 a9 2HS6 230 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 -110 Mean: 2SE-1 50 40 1
v 19876 1NN2 120 370  4HS5 650 70 1 v J643 2SE3-140 90 A 0.0 4
¢ QT85 Dif: 110 NS:-4 3NS3 600 6.0 1 ¢ Q3 Dif: 30 NS:-1 2SE2 110 1.0 5
& AT9 IMP:3 EW:6 A 00 4 & QT54 IMP: 1 EW:2 2SE3 140 20 2
» Q876 # AK42 3HS6 230 4.0 1 4 Q864 & AKT7
v 543 + v K 2HS6 230 40 1 ||vQT95 v 82
¢ 9642 ¢ K3 3HS5 200 5.0 1 * K2 + AT94
& J4 S & Q8763 2HN4 170 50 1 ||& 963 & K72
¢V ABN ,JT53 1NN2 120 60 1 *eVAN 403
N ~45~4 ¢AQ2 N 1~~~~ o AK7
S ~45~4 ¢AJ7 S 1~~~ ~ ¢ J8765
E ~~~~~ & K52 E ~~~32 aA8
~~~~~ W ~~~21
#9 a A76 1NW3 -150 Mean: 2SN2 110 50 1 |[|# 10 a75 3DW4 -130 Mean: 3NE-2 200 60 1
v J532 1HN-3-150 -70  3CS-1 -50 1.0 1 v Q52 4SW-1100 -50  5DE-1 100 40 1
«» Q62 Dif: 0 NS:-2 2SS-1 -50 1.0 1 ¢ 754 Dif: -230 NS:-2 4SW-1 100 40 2
& T97 IMP: 0 EW:2 A 00 4 & KJT43 IMP: -6 EW:-4 A 00 4
s KJ3 s T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v AQ7 v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ AJT54 ¢ 983 1NW3 150 2.0 1 ||e AT86 * KJ93 3HXS-2 -500 -10.0 1
& J4 & Q32 1HN-3 150 20 1 ||s AQ7 & 9652
o VAN 4,Q985 P eVABN 4, A3
N 1~~~~ T4 N ~~~~~ v K98743
S 1~~1~ oK7 S ~~~~~ ¢ Q2
E ~23~1 &AK865 E 35~44 a8
~22~1 W 35~44
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#1: 2 B 52(59.65) #2: 3 BEK (54.93) #3: 9 LLIMHE(50.46)
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INS: B{—5% B EEAC) -11 2 NS: BREE E18H(F0) 13 VP:| 3.61 16.39| Total VP: 44.62 Rank:
EW: £2881F B5=HEEEO) -13 EW: 85 £LRZ(BAC) 11 IMP:| 16 38 5
1972 3NE-1-50 Mean: 3NW-1 50 20 1 ([[# 2 s J3 2NW3 150 Mean: 2NW3 150 6.0 1
v 763 3NW-1-50 -30  3NE-1 50 20 3 v K732 3NW3400 -380 A 00 4
¢ AT6 Dif: 0 NS:2 A 00 4 ¢ J62 Dif: -250 NS:-1  3NW3 -400 1.0 4
& A95 IMP: 0 EW:-2 2NE3 150 3.0 1 » Q764 IMP: -6 EW:-6 3NW4 430 20 2
» KJ8 2NE2 4120 3.0 1 [|aQ & AK754 3NE4 430 20 1
v AKQ9 1NE2 120 3.0 2 |[|e QJT8 | v 96
+ K954 ¢ AK3 ¢ Q975
& 62 & KJ852 & T9
» AGA F ¢V AN 4 T9862
v JT84 N ~~~~~ v A54
¢ 73 S ~~~~~ ¢ T84
& QJT8 E 33~~3 aA3
W 33~~3
» K853 3NE-1-100 Mean: 3NE-2 200 100 1 ||# 4 a74 4HXN-1 200 Mean: 3SE-3 300 9.0 1
v AJT65 3NW3 600 -240 3NE-1 100 80 2 v KQT98432 4HN-1100 -110  3SXE-1 200 70 1
¢ 542 Dif: -700 NsS:-8 3CW-1 100 80 1 ¢ J64 Dif: 100 NS:-0 A 00 4
&6 IMP: -12 EW:-8 A 00 4 » IMP: 3 EW:3  4HN-1 100 0.0 4
aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ JT763 3NW4 630 9.0 1 []|e K53 ¢ A2
& QJ3 & 98543 & KJ76
s 742 P VAN 4 AKS
v 94 N ~13~1 96
¢ Q98 S ~13~1 ¢ QT987
& KT987 E 2~~1~ a&AQT2
W 2~~1~
» K862 3NE-2 -100 Mean: 4HE-2 100 50 1|[|#6 » K8 6SW6 1430 Mean: 3HE4 470 11.0 1
v 732 4SXN-1200 -110 3NE-2 100 50 1 v 953 4HE4 620 -710 2HE4 470 110 1
» AQ842 Dif: -300 NS:-3 3HE-2 100 50 2 » KQJ763 Dif: 810 NS:3 4HW4 620 3.0 2
a5 IMP: -7 EW:-5 A 00 4 a K2 IMP: 13 EW:12 4HE4 620 3.0 1
aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
¢ KJT 4SXN-2 500 9.0 1 []|e 854 ¢ A9 6SW6 1430 120 2
~ J86 4DXN-2 500 9.0 1 [|a& T8764 a A
» AJ95 P OVABN o743
v T9 N ~~~~~ v Q76
¢ 9753 S ~~~~~ ¢ T2
& A73 E ~~462 &QJ953
W ~~462
a9 2SXW-3 -800 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 110 Mean: 2SE-1 50 40 1
v 19876 3NS3 -600 370 4HS5 650 70 1 v J643 2SE2110 90 A 0.0 4
¢ QT85 Dif: -200 NS:6 3NS3 600 60 1 ¢ Q3 Dif: 0 NS:-1 2SE2 110 1.0 5
& AT9 IMP: -5 EW:-10 A 00 4 & QT54 IMP: 0 EW:1 2SE3 140 20 2
& AK42 3HS6 230 4.0 1 4 Q864 & AKT7
+ v KJ 2HS6 230 40 1 || QT95 v 82
* K3 3HS5 200 50 1 ||e K2 * AT94
S & Q8763 2HN4 170 50 1 ||& 963 & K72
 JT53 1NN2 120 60 1 *eVAN 403
v AQ2 N 1~~~~ o AK7
o AJ7 S 1~~~ ~ ¢ J8765
& K52 E ~~~32 aAJ8
W ~~~21
» A6 3CS-150 Mean: 2SN2 110 50 1 |[|# 10 a75 3SW4 170 Mean: 3NE-2 200 60 1
v J532 2SS-150 -70  3CS-1 -50 10 1 v Q52 3HXS-2500 -50  5DE-1 100 40 1
«» Q62 Dif: 0 NS:1 2SS-1 -50 10 1 ¢ 754 Dif: -330 NS:-10 4SW-1 100 40 2
& 197 IMP: 0 EW:-1 A 00 4 & KJT43 IMP: -8 EW:3 A 00 4
» T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ 983 1NW3 150 2.0 1 ||e AT86 + KJ93 3HXS-2 -500 -10.0 1
a Q32 1HN-3 150 20 1 ||a AQ7 & 9652
4 Q985 P eVABN 4, A3
v T4 N ~~~~~ v K98743
¢ K7 S ~~~~~ ¢ Q2
& AK865 E 35~44 a8
W 35~44
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#1: 2 B 52(59.65) #2: 3 BEK (54.93) #3: 9 LLIMHE(50.46)
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INS: BE#ES: STRINEAC) -16 1 NS: 25 &£ F5(B0) 6 | VP:| 5.72 14.28 | Total VP: 20.21 Rank:
EW: BERIE Wisk=EH0) -6 EW: &30& SEBUER(FC) 1 IMP:| 28 41 1
1972 3NE-1-50 Mean: 3NW-1 50 20 1 ([[# 2 s J3 3NW3 400 Mean: 2NW3 150 6.0 1
v 763 2NE3150 -30  3NE-1 50 20 3 v K732 3NW4430 -380 A 00 4
« AT6 Dif: -200 NS:-3 A 00 4 ¢ J62 Dif: -30 NS:-2 3NW3 -400 1.0 4
& A95 IMP: -5 EW:-2 2NE3 150 3.0 1 » Q764 IMP: -1 EW:1  3NW4 430 20 2
» KJ8 2NE2 4120 3.0 1 [|aQ & AK754 3NE4 430 20 1
v AKQ9 1NE2 120 3.0 2 |[|e QJT8 | v 96
+ K954 ¢ AK3 ¢ Q975
& 62 & KJ852 & T9
» AGA F ¢V AN 4 T9862
v JT84 N ~~~~~ v A54
¢ 73 S ~~~~~ ¢ T84
& QJT8 E 33~~3 aA3
W 33~~3
» K853 3NE-2 -200 Mean: 3NE-2 200 100 1 ||# 4 a74 4HN-1 100 Mean: 3SE-3 300 9.0 1
v AJT65 3NW4 630 -240  3NE-1 100 80 2 v KQT98432 3SXE-1-200 -110  3SXE-1 200 70 1
¢ 542 Dif: -830 NS:-9 3CWwW-1 100 80 1 ¢ J64 Dif: 300 NS:7 A 00 4
&6 IMP: -13 EW:-10 A 00 4 » IMP: 7 EW:-0 4HN-1 100 0.0 4
aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ JT763 3NW4 630 9.0 1 []|e K53 ¢ A2
& QJ3 & 98543 & KJ76
s 742 P VAN 4 AKS
v 94 N ~13~1 96
¢ Q98 S ~13~1 ¢ QT987
& KT987 E 2~~1~ a&AQT2
W 2~~1~
» K862 4HE-2 -100 Mean: 4HE-2 100 50 1|[|#6 » K8 6SW6 1430 Mean: 3HE4 470 11.0 1
v 732 4SXN-2 500 -110 3NE-2 100 50 1 v 953 4HW4 620 -710  2HE4 470 110 1
» AQ842 Dif: -600 NS:-9 3HE-2 100 50 2 » KQJ763 Dif: 810 NS:3 4HW4 620 3.0 2
a5 IMP: -12 EW:-5 A 00 4 a K2 IMP: 13 EW:12 4HE4 620 3.0 1
aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
¢ KJT 4SXN-2 500 9.0 1 []|e 854 ¢ A9 6SW6 1430 120 2
~ J86 4DXN-2 500 9.0 1 [|a& T8764 a A
» AJ95 P OVABN o743
v T9 N ~~~~~ v Q76
¢ 9753 S ~~~~~ ¢ T2
& A73 E ~~462 &QJ953
W ~~462
a9 4HS5 -650 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 110 Mean: 2SE-1 50 40 1
v 19876 3HS5-200 370 4HS5 650 70 1 v J643 2SE2110 90 A 0.0 4
¢ QT85 Dif: -450 NS:-5 3NS3 600 60 1 ¢ Q3 Dif: 0 NS:-1 2SE2 110 1.0 5
& AT9 IMP: -10 EW:-7 A 00 4 & QT54 IMP: 0 EW:1 2SE3 140 20 2
& AK42 3HS6 230 4.0 1 4 Q864 & AKT7
+ v KJ 2HS6 230 40 1 || QT95 v 82
* K3 3HS5 200 50 1 ||e K2 * AT94
S & Q8763 2HN4 170 50 1 ||& 963 & K72
 JT53 1NN2 120 60 1 *eVAN 403
v AQ2 N 1~~~~ o AK7
o AJ7 S 1~~~ ~ ¢ J8765
& K52 E ~~~32 aAJ8
W ~~~21
» A6 2DW3 110 Mean: 2SN2 110 50 1 |[|# 10 a75 3SW4 170 Mean: 3NE-2 200 60 1
v J532 2DW290 -70  3CS-1 -50 10 1 v Q52 4SW-1-100 -50 5DE-1 100 40 1
«» Q62 Dif: 20 NS:-1  2S8S-1 -50 10 1 ¢ 754 Dif: 270 NS:4 4SW-1 100 40 2
& 197 IMP:1 EW:1 A 00 4 & KJT43 IMP: 7 EW:3 A 00 4
» T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ 983 1NW3 150 2.0 1 ||e AT86 + KJ93 3HXS-2 -500 -10.0 1
a Q32 1HN-3 150 20 1 ||a AQ7 & 9652
4 Q985 P eVABN 4, A3
v T4 N ~~~~~ v K98743
¢ K7 S ~~~~~ ¢ Q2
& AK865 E 35~44 a8
W 35~44




11I0AE< & 2RABpERF R E ==> R4

#1: 2 B 52(59.65) #2: 3 BEK (54.93) #3: 9 LLIMHE(50.46)

& AQJ96

s Q43

<
o >
X
o

KQT942

mmwzZ e
WW g
llwwe
=11 4
TINN Y
BN -4

INS: #heg 1 $ESEAC) -11 3 NS: #B{E32 FFEH(BAO) 0 VP:| 5.46 14.54| Total VP: 45.85 Rank:
EW: fo528) &5 E3(5E0) 0 EW: ZZRET5 2% K(FC) 11 IMP:| 6 20 4
4 1972 3NE-1-50 Mean: 3NW-1 50 20 1 ([[# 2 s J3 3NW3 400 Mean: 2NW3 150 6.0 1
v 763 1NE2 120 -30  3NE-1 50 20 3 v K732 3NW4430 -380 A 00 4
o AT6 Dif: -170 NS:-3 A 00 4 ¢ J62 Dif: -30 NS:-2 3NW3 -400 1.0 4
& A95 IMP: -5 EW:-2 2NE3 150 3.0 1 » Q764 IMP: -1 EW:1  3NW4 430 20 2
» KJ8 2NE2 120 3.0 1 ||eQ & AK754 3NE4 430 20 1
v AKQ9 1NE2 120 3.0 2 |[|e QJT8 I v 96
+ K954 ¢ AK3 ¢ Q975
& 62 & KJ852 & T9
» AGA F ¢V AN 4 T9862
v JT84 N ~~~~~ v A54
¢ 73 S ~~~~~ ¢ T84
& QJT8 E 33~~3 aA3
W 33~~3
# K853 3NE3 600 Mean: 3NE-2 200 100 1 ||# 4 'y 4HN-1 100 Mean: 3SE-3 300 9.0 1
v AJT65 3NE3 600 -240  3NE-1 100 80 2 v KQT98432 4HN-1100 -110  3SXE-1 200 70 1
¢ 542 Dif: 0 NS:-8 3CW-1 100 8.0 1 ¢ J64 Dif: 0 NS:-0 A 00 4
&6 IMP: 0 EW:8 A 00 4 » IMP: 0 EW:-0 4HN-1 100 0.0 4
aT 3NW3 600 8.0 1 ||a JT6 & Q9832 4HXN-1 200 -3.0 1
v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ JT763 3NW4 630 9.0 1 |]|e K53 ¢ A2
& QJ3 & 98543 & KJ76
s 742 P VAN 4 AKS
v 94 N ~13~1 96
¢ Q98 S ~13~1 ¢ QT987
& KT987 E 2~~1~ a&AQT2
W 2~~1~
» K862 3HE-2 -100 Mean: 4HE-2 100 50 1 |[|# 6 » K8 3HE4 170 Mean: 3HE4 170 11.0 1
v 732 3HE-2-100 -110 3NE-2 100 50 1 v 953 4HW4 620 -710 2HE4 170 11.0 1
» AQ842 Dif: 0 NS:5 3HE-2 100 50 2 » KQJ763 Dif: -450 NS:3 4HW4 620 3.0 2
a5 IMP: 0 EW:5 A 00 4 a K2 IMP: -10 EW:-11 4HE4 620 3.0 1
aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
¢ KJT 4SXN-2 500 9.0 1 []|e 854 ¢ A9 6SW6 1430 120 2
~ J86 4DXN-2 500 9.0 1 ||a& T8764 a A
» AJ95 P OVABN o743
v T9 N ~~~~~ v Q76
¢ 9753 S ~~~~~ ¢ T2
& A73 E ~~462 &QJ953
W ~~462
a9 2HS6 -230 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 110 Mean: 2SE-1 50 40 1
v 19876 1NN2 -120 370  4HS5 650 70 1 v J643 2SE3140 90 A 0.0 4
¢ QT85 Dif: -110 NS:-6 3NS3 600 6.0 1 ¢ Q3 Dif: -30 NS:-2 2SE2 110 1.0 5
& AT9 IMP: -3 EW:4 A 00 4 & QT54 IMP: -1 EW:1 2SE3 140 20 2
& AK42 3HS6 230 4.0 1 4 Q864 & AKT7
+ v KJ 2HS6 230 40 1 || QT95 v 82
* K3 3HS5 200 50 1 ||e K2 * AT94
S & Q8763 2HN4 170 50 1 ||& 963 & K72
 JT53 1NN2 120 60 1 *eVAN 403
v AQ2 N 1~~~~ o AK7
o AJ7 S 1~~~ ~ ¢ J8765
& K52 E ~~~32 aAJ8
W ~~~21
» A76 1NW3 150 Mean: 2SN2 110 50 1 |[|# 10 a75 3DW4 130 Mean: 3NE-2 200 60 1
v J532 1HN-3150 -70  3CS-1 -50 1.0 1 v Q52 4SW-1-100 -50 5DE-1 100 40 1
+ Q62 Dif: 0 NS:-2 2SS-1 -50 10 1 ¢ 754 Dif: 230 NS:4 4SW-1 100 40 2
& 197 IMP: 0 EW:2 A 00 4 & KJT43 IMP: 6 EW:2 A 00 4
» T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ 983 1NW3 150 2.0 1 ||e AT86 + KJ93 3HXS-2 -500 -10.0 1
a Q32 1HN-3 150 20 1 ||a AQ7 & 9652
4 Q985 P eVABN 4, A3
v T4 N ~~~~~ v K98743
¢ K7 S ~~~~~ ¢ Q2
& AK865 E 35~44 a8
W 35~44




11I0AE< & 2RABpERF R E ==> R4

#1: 2 B 52(59.65) #2: 3 BEK (54.93) #3: 9 LLIMHE(50.46)

& AQJ96

s Q43

<
o >
X
o

KQT942

mmwzZ e
WW g
llwwe
=11 4
TINN Y
BN -4

INS: HRiEEE ZoA=(BHO) -8 9 NS: FR1EE Ei2f&(BAC) 21 VP:| 2.66 17.34| Total VP: 31.15 Rank:
EW: =E B ERAC) -21 EW: BfF I8 R(BA0) IMP:| 12 39 8
__
4 1972 1NE2 -120 Mean: 3NW-1 50 20 1 ([[# 2 s J3 3NE4 -430 Mean: 2NW3 150 6.0 1
v 763 2NE2 -120 -30  3NE-1 50 20 3 v K732 3NW3 -400 -380 A 00 4
o AT6 Dif: 0 NS:-3 A 00 4 ¢ J62 Dif: -30 NS:-2 3NW3 -400 1.0 4
& A95 IMP: 0 EW:3 2NE3 150 3.0 1 & Q764 IMP: -1 EW:1  3NW4 430 20 2
» KJ8 2NE2 120 3.0 1 ||eQ & AK754 3NE4 430 20 1
v AKQ9 1NE2 120 3.0 2 |[|e QJT8 I v 96
+ K954 ¢ AK3 ¢ Q975
& 62 & KJ852 & T9
» AGA F ¢V AN 4 T9862
v JT84 N ~~~~~ v A54
¢ 73 S ~~~~~ ¢ T84
& QJT8 E 33~~3 aA3
W 33~~3
» K853 3NE-1 100 Mean: 3NE-2 200 100 1 ||# 4 a74 4HXN-3 -800 Mean: 3SE-3 300 9.0 1
v AJT65 3CW-1100 -240 3NE-1 100 80 2 v KQT98432 3SE-3300 -110 3SXE-1 200 70 1
¢ 542 Dif: 0 NS:8 3CW-1 100 8.0 1 ¢ J64 Dif: -1100 NS:-12 A 00 4
&6 IMP: 0 EW:8 A 00 4 » IMP: -15 EW:-9 4HN-1 -100 0.0 4
aT 3NW3 600 8.0 1 ||a JT6 & Q9832 4HXN-1 200 -3.0 1
v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ JT763 3NW4 630 9.0 1 []|e K53 ¢ A2
& QJ3 & 98543 & KJ76
s 742 ¢V AN 4 AKS
v 94 N ~13~1 96
¢ Q98 S ~13~1 ¢ QT987
& KT987 E 2~~1~ a&AQT2
W 2~~1~
» K862 4DXN-2 -500 Mean: 4HE-2 100 50 1 |[|# 6 » K8 4SW6 -680 Mean: 3HE4 170 11.0 1
v 732 2CW4 -130 -110  3NE-2 100 50 1 v 953 2HE4 -170 -710  2HE4 170 11.0 1
» AQ842 Dif: -370 NS:-9 3HE-2 100 50 2 » KQJ763 Dif: -510 NS:1  4HW4 620 3.0 2
a5 IMP: -9 EW:1 A 00 4 a K2 IMP: -11 EW:-11 4HE4 620 3.0 1
aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
¢ KJT 4SXN-2 500 9.0 1 []|e 854 ¢ A9 6SW6 1430 120 2
~ J86 4DXN-2 500 9.0 1 ||a& T8764 a A
» AJ95 P OVABN o743
v T9 N ~~~~~ v Q76
¢ 9753 S ~~~~~ ¢ T2
& A73 E ~~462 & QJ953
W ~~462
a9 3HS6 230 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE-1 50 Mean: 2SE-1 50 40 1
v 19876 2HN4 170 370  4HS5 650 70 1 v J643 2SE3-140 90 A 0.0 4
¢ QT85 Dif: 60 NS:-4 3NS3 600 6.0 1 ¢ Q3 Dif: 190 NS:4 2SE2 110 1.0 5
& AT9 IMP:2 EW:5 A 00 4 & QT54 IMP: 5 EW:2 2SE3 140 20 2
& AK42 3HS6 230 4.0 1 4 Q864 & AKT7
+ v KJ 2HS6 230 40 1 || QT95 v 82
* K3 3HS5 200 50 1 ||e K2 * AT94
S & Q8763 2HN4 170 50 1 ||& 963 & K72
 JT53 1NN2 120 60 1 *eVAN 403
v AQ2 N 1~~~~ o AK7
o AJ7 S 1~~~ ~ ¢J8765
& K52 E ~~~32 aAJ8
W ~~~21
» A76 2SN2 110 Mean: 2SN2 110 50 1 |[|# 10 a75 5DE-1 100 Mean: 3NE-2 200 60 1
v J532 2DW2-90 -70  3CS-1 -50 1.0 1 v Q52 3NE-2200 -50  5DE-1 100 40 1
+ Q62 Dif: 200 NS:5 2SS-1 -50 10 1 ¢ 754 Dif: -100 NS:4 4SW-1 100 40 2
& T97 IMP: 5 EW:1 A 00 4 & KJT43 IMP: -3 EW:6 A 00 4
» T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ 983 1NW3 150 2.0 1 |[|e AT86 + KJ93 3HXS-2 -500 -10.0 1
a Q32 1HN-3 150 20 1 ||a AQ7 & 9652
4 Q985 P eVABN 4, A3
v T4 N ~~~~~ v K98743
¢ K7 S ~~~~~ ¢ Q2
& AK865 E 35~44 a8
W 35~44




Ll > >3z s\ 4 J—
4 10EEXF2ABEREIBFE == R 4
! AYA N \\/_‘ ==
#1: 2 BB ZFR(59.65) #2: 3 Bf & (54.93) #3: 9 LLI7EHE(50.46)
8 INS: (BHO0) 0 10 NS: (BiC) 0 VP:| 12.00 : 0.00 Total VP: 30.60 Rank:
EW: (#C)0 EW: (F0) 0 IMP:l| 0 : 0 9
I
#1 1972 A Mean: 3NW-1 50 20 1[[|# 2 s J3 A Mean: 2NW3 150 6.0 1
v 763 A 30  3NE41 50 20 3 v K732 A 380 A 00 4
¢ AT6 Dif: 0 NS:0 A 00 4 ¢ J62 Dif: 0 NS:0 3NW3 400 1.0 4
& A95 IMP: 0 EW:0 2NE3 150 3.0 1 » Q764 IMP: 0 EW:0 3NW4 430 20 2
» Q53 s KJ8 2NE2 4120 3.0 1 [|aQ & AK754 3NE4 430 20 1
v 52 v AKQ9 1NE2 4120 3.0 2 ||e QJT8 I v 96
¢ QJ82 ¢ K954 ¢ AK3 ¢ Q975
& K743 & 62 & KJ852 & T9
% ¢ VAN ,AGS B¢ VAN 479862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ 73 S ~~~~~ o T84
E ~3~~2 &QJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 » K853 A Mean: 3NE-2 200 100 1 ||# 4 a 74 A Mean: 3SE-3 300 9.0 1
v AJT65 A 240 3NE-4 100 80 2 v KQT98432 A 110  3SXE-1 200 70 1
¢ 542 Dif: 0 NS:0 3CW-1 100 80 1 ¢ J64 Dif: 0 NS:0 A 00 4
»6 IMP: 0 EW:0 A 00 4 » IMP: 0 EW:0 4HN-1 100 0.0 4
& AQJI6 aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v K8 v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -12.0 1
¢ AK ¢ JT763 3NW4 630 9.0 1 ¢ K53 * A2
& A542 & QJ3 & 98543 & KJ76
B¢ VAN 4742 ¢V AN 4 AKS
N ~~~~~ v 94 N ~13~1 96
S ~~~~~ ¢ Q98 S ~13~1 ¢ QT987
E 34 ~~3 &KT987 E 2~~1~ a&AQT2
34~~3 W 2~~1~
#5 » K862 A Mean: 4HE-2 100 50 1|[|#6 » K8 A Mean: 3HE4 470 11.0 1
v 732 A 110 3NE-2 100 50 1 v 953 A 710 2HE4 470 11.0 1
» AQ842 Dif: 0 NS:0 3HE-2 100 50 2 » KQJ763 Dif: 0 NS:0 4HW4 620 3.0 2
a5 IMP: 0 EW:0 A 00 4 a K2 IMP: 0 EW:0 4HE4 620 3.0 1
a Q43 aT7 2cw4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v AK5 v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
*6 ¢ KJT 4SXN-2 500 9.0 1 ||e 854 * A9 6SW6 1430 120 2
& KQT942 & J86 4DXN-2 -500 9.0 1 ||& T8764 a A
% ¢V AON 4,AIB e VABN 4,743
N ~3~2~ «T9 N ~~~~~ v Q76
S ~3~2~ 49753 S ~~~~~ ¢ T2
E 3~1~1 &A73 E ~~462 aQJ9s3
3~1~1 W ~~462
#7 49 A Mean: 2SXW-3 800 100 1 ||# 8 a J52 A Mean: 2SE-1 50 40 1
» 79876 A 370  4HS5 650 7.0 1 v J643 A 9 A 00 4
¢ QT85 Dif: 0 NS:0 3NS3 600 60 1 ¢ Q3 Dif: 0 NS:0 2SE2 110 1.0 5
& AT9 IMP: 0 EW:0 A 00 4 & QT54 IMP: 0 EW:0 2SE3 140 20 2
» Q876 # AK42 3HS6 230 4.0 1 4 Q864 & AKT7
v 543 + v KJ 2HS6 230 40 1 ||vQT95 v 82
¢ 9642 ¢ K3 3HS5 200 5.0 1 * K2 + AT94
& J4 S & Q8763 2HN4 170 50 1 ||& 963 & K72
¢V ABN ,JT53 1NN2 120 -60 1 *eVAN 403
N ~45~4 ¢AQ2 N 1~~~~ o AK7
S ~45~4 ¢AJ7 S 1~~~ ~ ¢ J8765
E ~~~~~ & K52 E ~~~32 aAJ8
~~~~~ W ~~~21
#9 » A6 A Mean: 2SN2 110 50 1 |[|# 10 a75 A Mean: 3NE-2 200 60 1
v J532 A 70 3CS- -50 10 1 v Q52 A 50 5DE-1 100 40 1
+ Q62 Dif: 0 NS:0 2SS-1 -50 10 1 ¢ 754 Dif: 0 NS:0 4Sw-1 100 40 2
& 197 IMP: 0 EW:0 A 00 4 & KJT43 IMP: 0 EW:0 A 00 4
s KJ3 s T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v AQ7 v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 470 3.0 2
¢ AJT54 ¢ 983 1NW3 150 2.0 1 ||e AT86 * KJ93 3HXS-2 -500 -10.0 1
& J4 & Q32 1HN-3 150 20 1 ||s AQ7 & 9652
o VAN 4,Q985 P eVABN 4, A3
N 1~~~~ T4 N ~~~~~ v K98743
S 1~~1~ oK7 S ~~~~~ ¢ Q2
E ~23~1 &AK865 E 35~44 a8
~22~1 W 35~44




Ll > >3z s\ 4 J—
4 102 EZ2RABERF B L == R4 4
! AYA N \\/_‘ ==
#1: 2 BB ZFR(59.65) #2: 3 Bf & (54.93) #3: 9 LLI7EHE(50.46)
9 INS: BEAER & EAC) 21 7 NS: #iE3E 235" (BJO) -8 VP:| 17.34 : 2.66 Total VP: 50.46 Rank:
EW: BéT TEREGHO) 8 EW: ERE S=a(BEC) -2 IMP:| 39 12 3
I . .
# 1 s T972 1NE2 120 Mean: 3NW-1 50 20 1[|# 2 & J3 3NE4 430 Mean: 2NW3 -150 6.0 1
v 763 2NE2120 -30  3NE-1 50 20 3 v K732 3NW3 400 -380 A 00 4
¢ AT6 Dif: 0 NS:-3 A 00 4 ¢ J62 Dif: 30 NS:-1  3NW3 400 1.0 4
& A95 IMP: 0 EW:3 2NE3 150 3.0 1 » Q764 IMP: 1 EW:2 3NW4 430 20 2
» Q53 #» KJ8 2NE2 4120 3.0 1 [|aQ & AK754 3NE4 430 20 1
v 52 v AKQ9 1NE2 4120 3.0 2 ||e QJT8 I v 96
¢ QJ82 + K954 ¢ AK3 ¢ Q975
& K743 & 62 & KJ852 & T9
®eVAN oA ® VAN 4 T9862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ * 73 S ~~~~~ * T84
E ~3~~2 &QJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 » K853 3NE-1-100 Mean: 3NE-2 200 100 1 ||# 4 a 74 4HXN-3 800 Mean: 3SE-3 300 9.0 1
v AJT65 3CW-1-100 -240 3NE-1 100 80 2 v KQT98432 3SE-3-300 -110  3SXE-1 200 70 1
¢ 542 Dif: 0 NS:8 3CW-1 100 80 1 ¢ J64 Dif: 1100 Ns:9 A 00 4
»6 IMP: 0 EW:8 A 00 4 » IMP: 15 EW:12 4HN-1 100 0.0 4
& AQJI6 aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v K8 v Q732 3NE3 600 80 2 ||e75 + v AJ 4HXN-3  -800 -12.0 1
¢ AK ¢ JT763 3NW4 630 9.0 1 ¢ K53 * A2
& A542 & QJ3 & 98543 & KJ76
B¢ VAN 4742 P VAN 4 AKS
N ~~~~~ v 94 N ~13~1 96
S ~~~~~ ¢ Q98 S ~13~1 ¢ QT987
E 34 ~~3 &KT987 E 2~~1~ a&AQT2
34~~3 W 2~~1~
#5 » K862 4DXN-2 500 Mean: 4HE-2 100 50 1|[|#6 » K8 4SW6 680 Mean: 3HE4 470 11.0 1
v 732 2CW4 130 -110  3NE-2 100 50 1 v 953 2HE4 170 -710  2HE4 470 11.0 1
» AQ842 Dif: 370 NS:-1 3HE-2 100 50 2 + KQJ763 Dif: 510 NS:11 4HW4 620 3.0 2
a5 IMP: 9 EW:9 A 00 4 a K2 IMP: 11 EW:-1 4HE4 620 3.0 1
a Q43 aT7 2cw4 130 1.0 1 |]|a T952 & AQJ6 4SW6 680 1.0 1
v AK5 v QJ864 4SXN-1 200 3.0 1||e4 —_— v AKJT82 A 00 4
*6 ¢ KJT 4SXN-2 500 9.0 1 ||e 854 ¢ A9 6SW6 1430 120 2
& KQT942 & J86 4DXN-2 -500 9.0 1 ||& T8764 a A
oo VAN 4,AID P OVABN o743
N ~3~2~ «T9 N ~~~~~ v Q76
S ~3~2~ 49753 S ~~~~~ * T2
E 3~1~1 aA73 E ~~462 aQJ9s3
3~1~1 W ~~462
#7 a9 3HS6 -230 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE-1-50 Mean: 2SE-1 50 40 1
v 19876 2HN4 -170 370  4HS5 650 70 1 v J643 2SE3140 90 A 0.0 4
¢ QT85 Dif: -60 NS:-5 3NS3 600 60 1 ¢ Q3 Dif: -190 NS:-2 2SE2 110 1.0 5
& AT9 IMP: -2 EW:4 A 00 4 & QT54 IMP: -5 EW:-4 2SE3 140 20 2
» Q876 # AK42 3HS6 230 4.0 1 4 Q864 & AKT7
v 543 + v K 2HS6 230 40 1 ||vQT95 v 82
¢ 9642 ¢ K3 3HS5 200 5.0 1 * K2 + AT94
& J4 S & Q8763 2HN4 170 50 1 ||& 963 & K72
¢V ABN ,JT53 1NN2 120 -60 1 *eVAN 403
N ~45~4 ¢AQ2 N 1~~~~ o AK7
S ~45~4 ¢AJ7 S 1~~~ ~ ¢ J8765
E ~~~~~ & K52 E ~~~32 aA8
~~~~~ W ~~~21
#9  A76 2SN2 -110 Mean: 2SN2 110 50 1 |[|# 10 a75 5DE-1-100 Mean: 3NE-2 200 60 1
v J532 2DW290 70  3CS-1 -50 10 1 v Q52 3NE-2-200 -50 5DE-1 100 40 1
«» Q62 Dif: -200 NS:-1 2SS-1 -50 10 1 ¢ 754 Dif: 100 NS:6 4SW-1 100 40 2
& 197 IMP: -5 EW:-5 A 00 4 & KJT43 IMP: 3 EW:-4 A 00 4
s KJ3 a T42 2DW3 110 1.0 1 || KQJ82 » T4 3DW4 130 20 1
v AQ7 v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 470 3.0 2
¢ AJT54 ¢ 983 1NW3 150 20 1 ||e AT86 * KJ93 3HXS-2 -500 -10.0 1
& J4 & Q32 1HN-3 150 20 1 ||s AQ7 & 9652
o VAN 4,Q985 P eVABN 4, A3
N 1~~~~ T4 N ~~~~~ v K98743
S 1~~1~ oK7 S ~~~~~ ¢ Q2
E ~23~1 &AK865 E 35~44 a8
~22~1 W 35~44




Ll g 3z s\ P —_
4 10EEE2ABERF 2R E == R4 4
! AYA N \\/_‘ ==
#1: 2 B 2 2%(59.65) #2: 3 B¥/2(54.93) #3: 9 LLIVEHE(50.46)
1 O INS: (BHC) 0 8 NS: (FA0)0 VP:| 0.00 12.00| Total VP: 40.00 Rank:
EW: (5d0)0 EW: (BC)o0 IMP:| © 0 12
_
# 1 a T972 A Mean: 3NW-1 50 2.0 1 # 2 a J3 A Mean: 2NW3 -150 6.0 1
v 763 A -30 3NE-1 50 2.0 3 v K732 A -380 A 0.0 4
¢ AT6 Dif: 0 NS:-0 A 0.0 4 ¢ J62 Dif: 0 NS:-0 3NW3 -400 -1.0 4
& A95 IMP: 0 EW:-0 2NE3 -150 -3.0 1 » Q764 IMP: 0 EW:-0 3NW4 -430 20 2
# Q53 # KJ8 2NE2 -120 -3.0 1 4 Q & AK754 3NE4 -430 20 1
v 52 v AKQ9 1NE2 -120 -3.0 2 v QJT8 I v 96
* QJ82 + K954 * AK3 + Q975
» K743 » 62 # KJ852 & T
*eVAN oA %V ABN 4 T9862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ 73 S ~~~~~ o T84
E ~3~~2 aQJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 & K853 A Mean: 3NE-2 200 100 1 # 4 a74 A Mean: 3SE-3 300 9.0 1
v AJT65 A 240 3NE-1 100 8.0 2 v KQT98432 A -110 3SXE-1 200 7.0 1
¢ 542 Dif: 0 NS:-0 3Cw-1 100 8.0 1 ¢ J64 Dif: 0 NS:-0 A 0.0 4
26 IMP:0 EwW:-0 A 0.0 4 » IMP: 0 EW:-0 4HN-1 -100 0.0 4
& AQJ96 aT 3NW3 -600 -8.0 1 s JT6 & Q9832 4HXN-1 -200 3.0 1
v K8 v Q732 3NE3 -600 -8.0 2 v 75 + v AJ 4HXN-3 -800 -12.0 1
* AK * JT763 3NW4 630 9.0 1 ||e K53 * A2
& A542 & QJ3 & 98543 & KJ76
* VAN o742 ¢V AN 4 AKS
N ~~~~~ v 94 N ~13~1 96
S ~~~~~ + Q98 S ~13~1 ¢QT987
E 34~~3 aKT97 E 2~~1~ &AQT2
34~~3 W 2~~1-~
#5 » K862 A Mean: 4HE-2 100 5.0 1 # 6 & K8 A Mean: 3HE4 -170 11.0 1
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